QI FEEFRRELFEDGPD DT
(2FFDGPA=3.29)
GPo (59~0)

GP1 (69~60) 2%
5% —

GpP2 (79~70)
m GP4 (100~90)

10%
= GP3 (89~80)
= GP2 (79~70)
= GP1 (69~60)
m GPO (59-~0)
021 FEEERRRET L OGPO DT
1.81-
26
(GPA = 3.51)
1.50-
14
(GPA = 3.06)
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

mGP4 (100~90) mGP3 (89~80) mGP2 (79~70) mGPL (69~60) mGPO (59~0)



2021 EFEB TS 0 — X DGPOH T

GPO (59~0
(w ) (70— Z4&kDGPA = 3.29)

GP1 (69~60)
5%

GP2 (79~70) 4

e m GP4 (100~90)
= GP3 (89~30)
m GP2 (79~70)
# GP1 (69~60)
m GPO (59~0)
2021 FEEBTF I —RFFE L DGPONT
0.00
24F
(GPA =3.54) .
374
14
(GPA =3.03)

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
mGP4 (100~90) mGP3 (89~80) mGP2 (79~70) mGP1 (69~60) mGPo (59~0)



21FEEREFIFI—RADGPODH
|

GPo (59~0) = (A—REfADGPA=3.33)
0%
GP1 (69~60)
5%

GP2 (79~70)
8%
m GP4 (100~90)
= GP3 (89~80)
= GP2 (79~70)
= GP1 (69~60)
mGPO (59~0)

GP3
39%

2021 FEBRETIFI—AFEFET L DGPDO T

0.00
0.00
25
(GPA = 3.62)
0.00-
14
(GPA = 3.03)

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
mGP4 (100~90) m GP3 (89~80) mGP2 (79~70) mGP1 (69~60) mGPO (59~0)



2021 EGALF 2 — X DGPO S
(A —Z2{EDGPA =2.99)
GPo (59~0) _
4% \
GP1 (69~60) _
8%

0)
%

201 FEBAHFI-RFET L OCPOSHT

m GP4 (100~90)
= GP3 (89~-80)
® GP2 (79~70)
= GP1 (69~-60)
= GPO (59~0)

GP2 (79~70)
18%

732

2E
(GPA = 3.30)

1333
0.00

17
(GPA = 2.67)

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
mGP4 (100~90) mGP3 (89~80) mGP2 (79~70) mGP1 (69~60) mGPO (59~0)



2E

201FEELARATHE I —XDGPD DT

(20— R&ERDGPA=3.47)
GPO (59~0)
GP1 (69~600%
3%

GP2 (79~-70
8%
m GP4 (100~90)
m GP3 (89~80)
m GP2 (79~~70)
u GP1 (69~60)
m GPO (59~0)

2015 EFARTED—RBE T L DGPOH

0.00

(GPA = 3.60)

17

(GPA = 3.33)

mGP4 (100~90) mGP3 (89~830) mGP2 (79~70) wGP1 (69~60) mGPo (59~0)

0% 10% 20% 30% 40% 50% 60% 70% 80% 90%

100%



